MODEL TEST PAPER
CLASS VII (Pratibha)

(MATHS)
Time :-Z%Hrs. M.M. =50
1 .
wAT -2 HTs. Uil =50
General Instruction:-
1. All the Questions are compulsory,
2. Paper is divided into four sections
SECTION —-A
Q.1. Identity the pair of like terms in the following pair of terms. (1)
¥ 93T % AT H = 97 09 9019 98 F1 g ?
(a) 7a,12x
(b) -3ab, 4ba
(c) 3xy, 3y’
(d) 6x%y, 6xy*
Q.2. Construct a perpendicular line m to any line n. (1)
TReft Y@ n 9¥ U F @1 m G |
Q.3. Write the product of% and it’s reciprocal. (1)
%H?}T IHH FHH HT OAHA [T |
Q.4. Which of the following congruence of triangles is not possible? (1)
(@) AAA  (b) SSS (c) ASA (d) SSA
Feforfea & & wia @ B i qaragar 699 781 ¢ ?
(@) (AAA  (b) SSS (c) ASA (d) SSA
Q.5. Tick the right option from the bracket: (1)
The construction of 60° angle can be done only by a Ruler and a Compass.
(Yes /No)
v e o o @t Ia¥ &1 I3 RIIT 60° F FHI0T hT THAT el TR qAT
wATH AT AT F | (=T L)
SECTION-B
Q.6. Look at the picture given below. What fraction of the total number of squares is

the number of shaded squares? Also find out the corresponding decimal form.
= & T aRla IFU| FrAifeha AT & FA a9 & (9 & =9 § g | gatea
= =1 gorera =9 § forfe | (2)



Q.7.

Simplify using like terms. (2)

(a) p-(a-p)+a-(p+q)
(b) a%-(b*+a?) + (-a% + b?) — b?

Q.s.

Q.9.

Q.10.

Q.11.

Q.12.

Fill in the blanks: (2)

(a) Two fractions can be compared by converting them to fractions.
(Equivalent/ like / unlike)

(b) %and ; are fractions. (Equivalent/ like / unlike)

s o ik -

(a) T AT AN FARICITATRT__ FEAT AE@TF & |

(THT /AT /3TEHT)
(b) %?f?]T g g | (FHeT/AHTH/ )

In a class of 50 students, there are 28 boys and rest are girls. All the boys like
sweets while girls like salty food items. Find the percentage of students who like
salty food items. (2)

50 TFT il U FeAT § 560 28 A= & TAT ATh! AT & | THT AT &l [Fors

THE g TAT ASTHRAT Tl AR QAT THE g | THDIT @7 @I a1l agl A0 Ta9rd

T T |

Express i as percentage. (2)
i FT wirerd F =7 & forfe |

Find the perimeter of a semicircle, if diameter is 10cm. (2)
T AT TRHATT AT HITorT AT THHT AT 10 cm BT |

Fill in the blanks :- (2)

(a) Two line segments are congruent if
(b) Two angles are congruent if

= v o

(a) 3T YE@TEUE FANTEH BIdT g T
(b) T U7 FATEH Id g I




Q.13. Study the following pattern carefully. (2)
= faw o gfaey & eame o 2|
1 = 2x1-1
2x2-1
2x3-1
2x4-1

N 0w
nu

And so on. 3T 3 ..........
Find the 10" term of the pattern.

gfasT T TH T4 AR F@Td gU 10 af 98 aqry |

Q.14. Find the area of following (2)
BREIEIECEIRGE RGOS
B
A ' \
¥ \
l'l.\.l 1'\
\ \
£\ A
G 5.8 -
\ WM )\
l‘"-. 5 -—*'__’_.#E .\.‘l.
D C
SECTION-C
Q.15. Using given algebraic expressions, fill in the blanks to complete the table of
Number patterns. (3)

HE&AT Tent i v ferferd |t & 1 F39 & o QU g &isig sl #T
ST Feh R e Wi |

Algebraic Value of Algebraic expression (45Ts T HT)
expression -1 ) -3
(et ) n= n= n=
2n-1 1 3
2n+= E 2
2 2 2
n’-1 0 3

Q.16. Arectangular park is 100m long and 80m wide. A path of 5m wide runs along



Q.17.

Q.18.

Q.19.

Q.20.

Q.21

Q.22.

inside it. Find the area of the path and cost of cementing of the path at the rate of
Rs.250 per 10m?. (3)

T AR T 100 H. FFT 747 80 HI. AT & | THH 3w AT av 5 .
FTET TEAT SATAT 8 | T T A6 aa120 a7 TEd 9 T 10 397 |, 9T Rs. 250
T @A AT gU, THT FA a0l Hof AT FATT DI |

Construct an equilateral triangle ABC of side 5¢cm, with the help of compass and

ruler. (3)
TR TAT FAL i AgIAAT & T GHaTg 9T ABC it 7541 il |
Solve (g1 Frfor) (3)
3240252
Match the following: (3)
(a) Standard form of 32700 (i1
(b) (-1)’ equals to (i) 0
(c) 2°+5°-6° (iii) 32.7 x 10°
(iv) -1
(v)3.27 x 10*
(a) 32700 =T AT ¥q (i)1
(b) (-1)*aTaT @ (i) 0
(c) 2°+5°—6°aq@EX g (iii) 32.7 x 10°
(iv) -1
(v)3.27 x 10*
SECTION - D
In a constituency, 20,000 people voted out of which 47% were males, 50% were
females and rest are other gender. (4)

(a) Find out the number of “other gender” votes.

(b) Find out the difference between the number of female and male voters.

T &= § F1 20,000 AR F 7agT 741 ; SFH 47% 29, 50% #igar a=w
TRt 3= ToRT o AaeTar ¥ |

(a) == o7 & o waeTaTeh 3 waer= & ?

(b) AIZAT AAGTATAT T FEAT TAT [&T HAGTATSN =l HEAT T A< IqT20 |
Match the following:- (4)
e e -

Column-I Column-Ii
(a) 3*x 3 i 4
(b) 4*+4° (i) 3°
(c) 5° (i) 6%
(d) (6°)° (iv) 1
In the following figure, if A AMC =/ BMD, write the step-wise correspondence.



Also write the suitable congruence. (4)
= & 2 sl § AfR if AAMC = A BMD, S TEHAT F T =0T forfe |
qFRTEEAT &7 T off forfer |

A D




MODEL TEST PAPER
CLASS VII (Nishtha)
(MATHS)

Time :- 2 %Hrs.
Ty -2 %Hrs.

General Instruction:-

1. All the Questions are compulsory,
2. Paper is divided into two sections
(a) Section A- Fundamental Skills,
(b) Section B-Comprises of syllabus
SECTION - A
Q.1. Write the Place value of 0 in 4077
407 § 0 =T =T 71 forferT |

Q.2. Fill in the boxes with correct numbers.

e ardy et e |

37 + =2
Z 40 ;

-28 ' R

Q.3. Observe and fill in the boxes with correct numbers.
TG I 3T Tt § ATy 9y |
326 323@‘% (tens) + 6 THTE (units)
535 = I:IE%T'% (tens) + I:I THTE (units)
Q.4. Encircle the greatest number in each row.
L URR § a9 FE1 HE&AT 9T T A |
(a) 108, 18, 81, 801, 811, 118
(b) 303, 33, 605, 65, 506, 650

Q.5. Fillin the blanks:

Frep =arvet 7 i AP |
(a) 3 Hours (52T1) = Minutes.(fA¥2)
(b) 4000 Millilitre (FA=fietter) = Litre. (<(12%)
(c) 5 Kilogram (FReTRITH) = gram. (UTH)

SECTION -B
Q.6. Calculate the ratio of 3 paise to 3 rupees.
3 9% T 3 FIT | AT AT 7 |

M.M. =50
50

:

(2)

(2)

(2)

(3)



Q.7.

Q.s.

Q.9.

Q.10.

Q.11.

Q.12.

Q.13.

Q.14.

Q.15.

Q.16.

Two fractions can be compared by converting them to fractions.

(Equivalent / Like/ Unlike). (1)
ZT T T AT el o oI Ty a7 T AMF9TF ¢ |
(AT /AT /3TE|T)
Write seven-tenths in decimal form. (1)
T T T Z9Haa & H o |
Write down the algebraic expression for subtracting y from x. (1)

X H Ay F " A Rafq 7 st s forfe |

If the following square represents One whole, then find out the decimal
representation of the shaded portion. Also write the shaded portion in the form

of a fraction. (2)

7fe 1= T gan a1 uF FT TATAT 8, IV S T FH I0HAT T H
ot | srifea W 1 fasr &7 7 o |

Express 72 as a product of powers of prime factors. (2)
72 T AT [UIFEET 6l =TT 6 [OERA 6 €9 H (@0 |
Simplify (Tt HITT) (2)
62 x x°
36 x x°
Find the value of the expression 5x — 5, when x = 5. (2)
FTH Sx — 5 FTAM AT AT AT x =5 8 |
Draw an angle of 120°. (2)
120° =T T 07 1Y |
In a class of 60 students, 20% come to school by cycle. How many students
come to school by cycle? (2)

60 TgT r FET H, 20% Tg ATt | =TT od & | T v ag AT ohed &
e A € ?

Simplify using like terms. (3)
THTH T&T T THAT T qLA FCh [0 |

(a) a + b-(-2a) + (-4b)
(b) a®+b”+ (a - b%) + b?



Q.17. Write the product of the given number and it’s reciprocal. (3)

2T TS HEAT S 36+ A T AR (19T |
(a) 2 _—:

Q.18. Solve. (g Fifrm) 3)
3=+ 0.2+

Q.19.Due to increased pollution in Delhi, Naseem and Babli decided to plant some
trees. The ratio of number of plants planted by Naseem and Babli is 2:3. If the total
number of plants is 60, then find the number of plants, planted by each one of
them. (3)

faeelt # 9 g0 UG HT d@d gU TEHIH 3T qaet F T US T 0l qraAT | THH
ST Tl % G AT T q&T 6l H&IT &1 Aqq1d 2 © 3 9T | T FT 60 T TMT
T ET AT TAF F Foha-fohd e I8 @900 |

Q.20. Subtract (3x—y +11) from the sum of (2x +y +11) and ( —x +10). (4)
(2x +y +11) TAT (—x +10) F TRTH T (3x —y +11) FT2T |
Q.21. In a constituency, 20,000 people voted; out of which 8,000 were males, 10,000
were females and the rest were “other gender”. (4)
(a) Find out the number of “other gender” voters.
(b) Find out the percentage of “other gender” votes.
U &5 § F1 20,000 AR F 7AaT 741 ; SEH 40% T2, 50% FiAT a7 areht
I T % gaerar o |
(c) == oI & o waeTaTsh 7 waer= T ?

(d) 3= ToRT o gaeTaret &1 gfaera g fifso?

Q.22. Construct a triangle ABC in which AB=5cm, BC=4cm, AC=6cm. (4)

T T3ST ABC 3T 73T &< SEH AB=5cm, BC=4cm, AC=6cm |



MODEL TEST PAPER
CLASS VII (Neo Nishtha)

(MATHS)
Time :-Z%Hrs. M.M. =50
1 .

wAT -2 HTs. Uil =50

General Instruction:-
1. All the Questions are compulsory,

GEIREEITEIRE)
2. Paper is divided into two sections

(a) Section A- Fundamental Skills,

(b) Section B-Comprises of syllabus

SECTION-A
Q.1. From the collection given below write the largest and smallest number. (1)
A= &7 TS AT § gay a1 997 999 gl 9 dT adrsv |
99, 09, 90, 109, 46, 06, 900

Largest Number (F9¥ =T §&1T) -

Smallest Number (F&¥ BTl §&AT)
Q.2. Add the following. (F=ferfad 1 A=) (1)
Q.3. Write the expanded form of foIIowmg. (1)

d1= < T2 "eaTet iy fAwaria ' § forferm|

a. 102 =
b. 120=

Q.4. Solve the following: (=T #hferT) (2)

(a) (b) 7 5 6

+ 5 6 7 -]
9 9 1 2 4 8

Q.5. Reena has Rs. 350. She went to purchase toys. How many maximum toys can she
purchase? (2)
T % 919 Rs. 350 g | 9 (e @diad s |



g SATET | SATAT Fohad e @i gehdl g ?

Q.6. What is the place value and face value of 0 in the following numbers:
I < TS GEAT | O T TIATHIT /T TAT SATohed AT 9T ZIFIT 2

Place value of 0 Face value of O

(O T T ATA) (0 =T sifehd ATH)

Q.7. Write the predecessor and successor of following numbers.

A= <T TS GEATSA F 31 gl qAT 31 a7a i §eq7 forfem|

\
g

828

Q.8. Write any four factors of 48 in the following figure.

I1= T U =7 & 48 & Fils A UGS [WE |




Q.9. Match the following. (FA=TH FIfrT) (2)

(Columnl) ( Column 1)

(FiA-1) (FwieH-11)

A Square (a)
Circle (9q)
Triangle (FBr<=)

Rectangle (3mad)

Q.10. Write the fraction for the shaded portion in the following figures. (2)
F= fau sro = | gt 9w e F ' e |

X
X

Fraction= | — Fraction =
v o
Q.11. Make a magic square of 3x3 using digits 1,2,3,4,5,6,7,8,9 so that sum of each
row and column is 15. (3)

1,2,3,4,5,6,7,8 3T 9 FT TN FLd g4 Uk 3x3 FT Ao Tha< a=13d qTieh
T AT AT FHIeH T forel Jerar &1 g 15 27 |

MAGIC SQUARE :-




Q.12. Calculate the perimeter of following figures. (3)

= € T sl o wma fif5m)
(a)
8cm L
2cm| | 2cm Zcm 3cm
3cm 3cm
lcm lcm
4cm 4cm 2cm 2cm
2cm {c) 2cm
6cm
2cm
4ecm 5em
3cm
2cm

(a)

(b)

(c)

Q.13. See the picture given below carefully and answer the following question. (3)

(i) How many half tiles are here?
(ii) How many full tiles are here?
(iii) If a tile costs Rs.6. Then what will be the cost of all the tiles that are here?

= fw o == i eam @ iR g sew e |
(i) et fradtsmeft Soanfr g 82

(i) Tef Fha Tt IS T g2 2 ?
(i) = TrF S Y FIAT Rs. 6 T A1 AT AT S2T AT FeT Frora Fraer 2Ry 2




Q.14. Fill in the blanks:- (FF Tama @fiw) (4)

+ 30

-30
End
SECTION-B
Q.15. 4a equals to:- (1)
4a FTHE G -
(i) 4+a3 (ii) at+ta+a+a (iii)axaxaxa (d) 4(a+a)
Q.16. Putthe sign >, <, = . (1)
>, < = & o e |
07 | | o007
Q.17. Identify the pair of parallel lines from the following pair of lines? (2)

A= fw U e § & ST YT O A ¥ 82



(i) . l gt /7t I | Yes / No I
e
9 (9
i —— :
(i) R 2 ‘ g?faé’rj [Yes/No ‘
50
(iii) X 4 v ‘iﬁf:rg? ] [ Yes / No }
(iv)
; [ £ g /et Yes / No
D
K
Q.18. Match the following. (F=T= Fifsrm) (2)
Column|l Column i
FiaT | cacel|
(i) (-2) x (-2) x (-2) x (-2) x(-2) (a) axaxaxa
(i) (1)} (b) (-2)°
(ii)  (7)x(7) x(7) x(7) (c) (-1) x(-1) x(-1)
(iv) a* (d) 7*

Q.19. Draw a line, AB. Take a point C outside AB. Through C, draw a line n parallel to
line AB using ruler and compass only. 3)

T @T AB =] 5 T fawg ¢ Aifora siv ¥@r AB 9= R 71 g1 Fhaer €< 3T
TTHTT T TN FIT T C & Frh< AB & HHTAL T @l Gy



Q.20. From the following two options which one is greater? Justify.

(5) x3 OR(5%)?®

(5%) x 3 31X (5%)° H & * A Hear =t g2 S A?

(5))x3 OR (5%)°
(5)x3 =

(5%)° =

Put the sign of >, <,=

>,< = w1 R e

Q.21.

(5x3 [ ] (59°

Put the fraction in the right bag.
frer v &g} & § iR |

(i) 3/7

(ii) 4/4

(iii) 9/8

(iv) 11/17

(v) 5/6

(vi) 18/18

(vii) 19/25

(viii) 6/7

BAG-1

BAG- 2

BAG-3

Fraction equal to 1

R aw1g

Fractions greater than 1

IECREEENE: G I R

Fraction less than 1

e SFaram 1+ 8|

(3)

(4)



Q.22. Make any four algebraic expressions by using two or three terms from the
following terms. (4)

e & & g oft 9= &7 TIRT T §U I TAT A9 911 A A a9 a1 Fs AR
fishir = o |

Xy,6,105,7,4,x,7z,
522y, v, t*,-5,10,1,5

Algebraic expressions Algebraic expressions
Containing two terms containing three terms

EREUCIEKIE IR ] 7 =t A sy e




